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Calculation of catastrophic health expenditure
	Considering the economy scale of household consumption, the household equivalence scale is used rather than actual household size. The equivalence scale is: 

                                      eqsize h = hhsize hβ

where hhsizeh is the household size. The value of the parameter β has been estimated from previous studies based on 59 countries’ household survey data, and it equals 0.56.

Subsistence spending can be calculated as follows: 

1. Generate the food expenditure share (foodexph) for each household by dividing the household’s food expenditure by its total expenditure 

	foodexph
	=
	foodh

	
	
	exph


 
2. Generate the equivalent household size for each household as 

eqsizeh = hhsize h0.56

 3. Divide each household food expenditure by the equivalent household size to get equivalised food expenditures (eqfoodh) 

	eqfoodh
	=
	foodh

	
	
	eqsizeh



 4. Identify the food expenditure shares of total household expenditure that are at the 45th and 55th percentile across the whole sample, name these two variables as food45 and food55. If the survey includes a household weighting variable, the percentile calculation should consider the weight. 

 5. Calculate the weighted average of food expenditure in the 45th to 55th percentile range. This gives the subsistence expenditure per (equivalent) capita, which is also the poverty line (pl) 

	 pl
	=
	Ʃ wh* eqfoodh

	
	
	Ʃ wh



where food45<foodexph<food55 

6. Lastly, calculate the subsistence expenditure for each household (seh) as 

 			 seh = pl * eqsizeh 

 A household is regarded as poor (poorh) when its total household expenditure is smaller than its subsistence spending. 

poorh =1 if exph < seh 
poorh = 0 if exph ≥ she

7. Out-of-pocket health payments share of household capacity to pay (oopctp) 
The burden of health payments is defined as the out-of-pocket payments as a percentage of a household’s capacity to pay.
	oopctph
	=
	ooph

	
	
	ctph



8. Catastrophic health expenditure (cata) 

Catastrophic heath expenditure occurs when a household’s total out-of-pocket health payments equal or exceed 40% of household’s capacity to pay or non-subsistence spending. 

The variable on catastrophic health expenditure is constructed as a dummy variable with value 1 indicating a household with catastrophic expenditure, and 0 without catastrophic 
expenditure. 


catah = 1 if 	ooph  ctph  	≥ 0.4

catah = 0 if 	ooph  ctph  	˂ 0.4

9. Expenditure quintile (quintile) 

The expenditure quintile is ranked by equivalized per capita household expenditure (eqexph).
	
             eqexph	= exph  eqsizeh
	
Note: household weight should be considered when grouping the population by quintile.



WHO method adapted from Xu.K “Distribution of health payments and catastrophic expenditures Methodology” 
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